BERER

RoFEAF+=A=+—H

KEME b /N
—ETREF —ZETRHEF —EEXRF
B 5T T FET FET
FRBEE
Y - I MERR 13 2,030,800 1,535,966 =
HE L R 14 114,549 83,654 =
R E A RINIRE 15 441,409 389,947 -
RETBARMIRE 16 = - 777,000
EES 17 14,477 14,055 =
| EE 18 8,084 9,254 -
2,609,319 2,032,876 777,000
RBEE
FEREER 19 373,459 259,188 =
FEUEBR TN M TES 0B 20 1,241,699 974,884 7,532
Rl —REEHIE 21 = 25,039 =
FE UK RAESE A = F0E 22 = 8,955 =
AT E1F B 2,220 2,162 =
Be RIRTTEH 23 211,150 174,266 =
1,828,528 1,444,494 7,532
BEMRE 4,437,847 3,477,370 784,532
R
KARIERFEE ANERERNHE
[N 24 777,000 777,000 777,000
it 25 (43,189) 349,788 (597)
733,811 1,126,788 776,403
DE R R 203,916 152,477 =
TS HAEE 937,727 1,279,265 776,403
EHPERERAT —TTAFER

34



BERER
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KEME b /N
—ETREF —ZETRHEF —EEXRF
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=0
FRBAE
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763,279 546,399 -
RBaE
BRI BT E A 28 800,030 600,400 1,004
JES — R D ER R FUA 29 63,359 23,794 -
FERS yﬁ:—:@ I,E 29 120,742 143,952 =
VR BEENGIEN 30 = - 7,125
FE{S RAEE A £ F0A 22 709,598 13,157 =
== 26 1,026,247 863,339 =
FESITIR 16,865 7,064 =
2,736,841 1,651,706 8,129
BfEER 3,500,120 2,198,105 8,129
KB EERE 4,437,847 3,477,370 784,532
MBI EEFRE (908,313) (207,212) (597)
BEBERREERE 1,701,006 1,825,664 776,403
HITEEFREFEF R AL
BEE ERm
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